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(BT = A" 9L /kg)

=1 — = o BREH X RERRE| . EHERRE
== AF3U mBE FREH (1208 | t/9h134 (by9h134) 994137 (b994137)
(IEES FrRY BUBFEALBIRERE | 1HCR)|] R~i&E 6.9 | A&H 5.9
EES NV 8L Z A5 T 206 (N[ A& 8.2 | ~%&H 6.8
3 [HE HYNTE mE™ 28H(K) [ A& 4.6 | A&H 4.0
AEEES Yh1E 8L = HET 13HCN)| A 8.2 | A&H 6.6
RESES Yh1E LU HMEETR | 21H0K)| A& 6.8 | A&EH 5.8
6 |FE Yh1E BUBEALEIER| 1HK)| A& 7.7 | A&H 6.1
REES Yh1E BILUHEXAILEIER | 2H(K)| A&H 6.0 | A1&H 5.1
EES SPYA BILUhZERRE [ 1268(B)] ~MEH 11.9 | ~&HE 9.6
CIEES ERt=V B LThZ 150 8H(R)| A&H 7.1 | A &H 5.9
IEES ERt=V B Lh &5l 13HCN)|[ R~ &HE 4.2 | A &H 3.6
(REES ERt=Vi BUmZEIE/l [278CN] EE 6.2 | A&H 5.9
(REES ERt=Vi BIUhZERRE [ 12H(B)] ™M 8.7 | A& 7.8
13 |8 43y B L iEmERR| 26H(H)| A 1&H 11.0 | ~%&H 8.6
(EES ERt=Vi ESLLh = FHET 5H(B)] Ai&HE 4.5 | A &H 3.8
15 |82 43 EILHPAEHIIRER | 5H(B)| A&H 5.7 | A%H 5.0
FEES =V LS AILETAFEA]| 22H (K)| A& 6.3 | A1&EH 5.3
EES 43V () [BRLmEHET 5H(B)] Ai&HE 6.2 | A~&H 5.3
18 |82 +A1E £ P EHET 2H ()| A& 8.3 | A1&H 6.7
19 [BE FAAE BE™ 28H(K) [ A& 7.4 | A &H 5.9
20 [ EXF B LhZiE 13HCN)|] R~ &H 5.7 | A %&H 5.0
IREES EXF BLUFRENZFE | 3H(L)|[ A&E 9.7 | A&H 7.5
YREES EXF ELHAHITREH | 5H(B)|] A&E 6.0 | ~&H 5.0
23 [FE EXF BLUHEALEIREER | 1H(KR)| A& 6.5 | ~&H 5.6
EES —IY 8L Lh = FHET 12H(B)] A #&HE 3.9 | A& 3.2
25 |[BE —VIY — AT 148 0K)| A&HE 8.6 | & 6.8
26 |Hx NTTA 8L ZHE ] 8H(K)| A~&H 7.0 | ~&H 5.7
YIREES NTTA L ZIER] 5 13HCN)|] R~ &E 7.0 | ~&H 6.2
28 |Hx NTTA BILUThZERIERE [ 206N AMEH 7.6 | A~&H 7.2
29 [Hx NTTA L= EmT 1| 6H(N)| AigHE 7.4 | A~&H 6.7
30 [FE NTTA LR ZEITHELL | 20HCN) [ A& 7.8 | A~%&H 7.3
31 |89 N4 B LmZiERmEAR| 26H(B)| A1&EH 8.1 | A&H 6.6
32 [FE NTTA B LUThFAHBIRER | 5H(B)] A™MEH 9.0 | A~ %&H 7.9
33 [HE NTTA K= 3H(H)| ~&H 8.5 | A& 7.1
34 [Bp3E m"oLYVYY  |BILTHZIER] 20H(CN) [ A& 8.6 | A& 7.2
35 [FE = X7 (#n) ELHZEEBIRE [ 27THCN)] R~ i&HEH 13.3 | F%E 10.8
36 [LEE-=02E[OUST EBLLI & 3H (1) 14.2 9.6 47.5 9.2
3 [LE-E02E|[V155 B L FAHET S5 78 (k) 23.2 9.1 124.2 8.7
38 [ZE:FDFE|[F X3 B8R ER P = 2] THOK)] A i&HE 6.8 | ~&H 5.5
39 [E:FDIFE|[FX3 R EBFa = 2] THOK)| A~ &H 12.0 26.0 9.7
0 (I -FDOCFE(ESHT LT FHET™E | 195H(B)] FA&Ed 12.2 | ~1&HE 9.8
41 I -F02HE |[7F (kB) EBILUHEERTZE [ 20BN MEH 10.6 | A~&HE 9.0
L2 [IUxE-ZFncHE |75 Gtk [BSIUmEVEETEVE [ 20B0N)| AEH 12.9 | A& 10.6
43 [B=E hF ELLHEAM 6H(N) AigHE 11.9 | F%E 10.2
MEES hF L/ R H 1H(R)] A~ &E 10.3 | ~&HE 8.1
45 [B=E hF 8L = HET 5H(B)] A~ &HE 4.4 | A& 3.8
46 [R=E huYv 8L 6H(N)| A~igHE 5.8 | A~ &H 5.8
47 |R=E AUy EUHAEALBAEH]| 1HOK)| AEH 5.4 | A~&H 4.7
48 [B=E Fo4 BTz Ell [ 2180K)] MEH 5.1 | A~ %&H 4.2
49 [B=E Fo4 BB PR T 105H(X)] A~ &HE 5.9 | A~ &H 5.0
50 [RE Fo4 LT E A LLE] 128(B)| ~&H 6.2 | ~&HE 5.8
51 [&E= Fo4 EBLUFEXALBIRE| 1HOK)|[ A&E 8.2 | A~%&H 6.6
52 |R=E FJ4 EBILmEAILETRE/R| 15H(K)| A& 12.2 | %1 9.6
53 |R=E R BB LI AT 9H(&)| &l 7.2 | ~%&HE 6.1
54 |R=E R BE™ 28H(K) [ A& 13.3 | A~&H 10.4
SEES )= SEMA 15H0CR) | R~ &HE 5.9 | A~ &H 5.3
EES =hYv ST Z=ZHEm] 8H(K)| A~ &H 6.1 | ~&H 5.3
57 [E=E ShY BLUAEALERREA] 198(B)] RE@E 6.2 | ~%&H 5.3
EEES 1X SRERAR R THOK)| Ai&H 5.4 | A&HE 5.2
59 [E= 1X B LhZEiEl 12H(8)| A&H 6.0 | ~&H 5.1
60 [R=E 1X B LhZEiEl | 6H(N)| A& 7.9 | ~%&HE 6.4
61 [BE 1X BB LT AT 260 (B)| A~1&HE 8.3 | A~%&HE 7.4
62 [RE 1X BB AREK 8H(AR)| A& 7.4 | A~&HE 6.1
63 [BE 1X BT PHELEER [ 20800 NE@H 5.9 | A~ %&H 6.3
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(BT = A" 9L /kg)

=1 — = o BREH X RERRE| . EHERRE
== AF3U mBE FREH (1208 | t/9h134 (by9h134) 994137 (b994137
[TEES 1X EBILUMPAAEI AR | 280K &L 8.8 | A&H 7.9
65 |R=E X ELUmEAILETAEH| 5H(B)| A&H 12.4 | & 11.0
66 [R=E 1X BUBHEXALEIRER | 1HCR)|] R~i&E 6.9 | ~&H 6.1
67 |R= 1X BB LLITh EEARET 9H(&)| A~ &H 9.4 | A %&H 7.5
68 |[FE=E 1X 8L/ \LLIH 22H(K)| A& 5.2 | A& 4.5
69 [R=E 1X mE™ 12H(B)| A #&HE 7.7 | ~%H 7.1
70 [B=E 1X WNEEB = [ H] 248 (1) 14.3 7.5 89.7 7.1
[NEES 1X NEESELBT 206 (K[ A& 5.3 23.0 3.7
72 [B=E D= 8L R AR 206K [ A& 8.9 | A& 7.7
73 [B=E D= ag)lm 1H(R)] R~ igE 6.5 | A~&H 6.4
7L [Z0f 52 LT 9H ()| A~ &H 9.7 | A %&H 7.7
75 [Zoft 52 B LIThZ 150 9H ()| A~ &H 10.2 | ~1&H 8.6
76 [Z0fE 52 B LhZ=iE0T 2THCN) [ A& 11.0 | ~1&HE 8.7
77 [ZFoft 52 UM ZEIRE [2718C0] R&EE 9.4 | A &H 7.7
78 [Zoft ==l LR ZEITHELL | 13HCN) [ A &EE 9.5 | A& 8.0
79 [Zoft EAR LR EVEITEE | 14H0OK) 9.6 5.0 63.8 4.7
80 [Zofb EAR EBLLI &R 22H(R)[ A& 6.5 | A~&H 7.0
81 [Zofb EAR BLUFEBEI TR [ 11H(H)|] ~&E A 5.9 4.3
82 [Zofb EAR HLUTERI IR | 258(H)] ~&E 4.5 8.0 4.9
83 [Zofb BA 78 ] ER PR s AT 4H(H) 20.5 8.3 102.3 7.7
84 [Zofb FHo 8L 9H ()| ~&H 12.3 | A~ 1&HE 9.8
85 |[Zof T3V EILUTHFAAHBI=BTE | 2H(®)] &L 8.8 | A& 9.1
86 |Zof AF (GENE)  [FRLUTHRIR 195 (B)] A #&H 7.3 | A~%&H 5.9
87 [ZofE £ L ZIER] 5 2THCN) [ A& 10.1 | ~1&HE 8.3
88 |[Zofh FAESS) WEEEB) AT THOK)] A i&HE 4.3 1 A &H 3.6
80 [Zofl A2 BUmZEIE/l [278C0] KEHE 12.9 | =~ 1&E 9.8
90 [Zoft A2 EBLUTHAHIIIEARE | 9B(®)| ~EE 7.8 | A~%&H 6.5
91 [Zofh ED (8) Wh=Emh 195 (B)] A #&HE 6.7 | ~&H 4.8
2 [Zoft T 8L 21H0K) [ A& 1.7 | ~1&E 9.1
93 [Zoft T 8L ZHE ] 2H(2)] A~ gHE 6.1 | ~&H 5.2
9% [Zofb T BUmZEIE/l [278C0] KEE 9.4 | A &H 7.6
95 [Zoft T BB LT RERL 68 (N) 17.8 5.2 78.8 5.3
9% [Zoft T E81LLmh/\RH 1H(R)] A~ &E 10.4 | ~&HE 8.7
97 [Zofk T TGN =E=] 195H(B)] A #&E 6.9 | ~&H 5.7
98 [Zoft T 1L = HET 12H(B)] A~ #&HE 5.8 | A& 6.1
99 [Zoft T BB = HET 13HCN)|] R~ &E 8.1 | A& 8.0
100 [Z0f T 8L Lmh = FHET 14.H0K)| R~ &H 12.5 | ~1&HE 11.1
101 [Zofk T BB LI FE BT 2H(®)| ~&d 10.0 | ~&HE 8.6
102 [Z0f T BB LI FE BT 22H(R)| A& 9.1 | A%&H 7.2
103 [Z0f T BLhmBsE 3H(H)| ~&H 5.4 | A& 4.6
104 [Z0fb i BLUAEALEREA] 6B RNEH 7.5 | A~&H 6.6
105 [Z0fb i BLAEXALETXREA] 268(B)| ~@E 10.3 | ~&HE 7.9
106 |[Z0fb T BLUHEALEIREER | 1H(R)| & 9.5 | A&H 8.2
107 [Z0fb T BUHEXALETRER | 9H(2)] R~ &E 8.2 | A~%&H 6.2
108 [Zofib T BLUHEAILEIREER [ 195 ()] A& 3.6 | A& 3.3
109 [Zofib T a8)lm 5H(B)] A~ &HE 7.1 | ~%&H 6.1
110 [Zofib T a8)lm 14H0K)[ R~ &HE 9.0 | ~%&H 7.5
111 [Zofb T HAN A =ZH] 268 (B)] ~%&HE 5.1 | A~ %&H 4.3
112 [Z0fb T HAREIBEIERET 5H(A)| ~&Hd 5.8 | A~ &H 4.9
113 [ZDfib T WNEES = [ H] 1H(R)] R~ &HE 11.5 23.7 9.3
114 [Z0fb T LR 21H0K) [ A& 9.5 | A&H 7.9
115 |Z0fik YRV A= 195 (B)] A~ &E 8.1 26.5 7.2
116 |Z0Dfib 7o (88) |[EBBmEffasiER] THOK)| ~&H 1.4 | ~&E 8.6
117 [H28FEXR K (%K) LI AT 8H(K)| A&H 5.8 | A~ &H 5.1
118 [H28FEX X (BX) Al EB~FH 15H0CR) | R~ &HE 6.5 | ~&H 5.6
119 [H28FEX X (BX) REIERZE] 13HCN)|] R~ &E 5.6 | A& 4.8
120 [H28F =K H5XK (BX) [HN™ 218 0K) [ A& 6.6 | ~&H 6.8
121 [HRTEMEEX K (BX) 8L 5H(A)| A~i&H 4.7 A~ &HE 4.0
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